Part No: VLD1850

Specifications

VLD1850 Bolt kit - 4WD mudguard

Mudguard bolt kit for fixing mudguards to axles.

Contents: 8-M10X25 S/SCREWS, LOCKNUTS & FLAT WASHERS.
10-M12X25

S/SCREWS: 8 LOCK NUTS& FLAT WASHERS.

8-M12X70 S/SCREWS & SPRING WASHERS

8-14 1D/22 OD X 20MMBUSHES

8-M16X35 S/SCREWS & LOCK NUTS

ALL METRIC COARSE.

19-04-2024 11

Carpenter Goodwin
31 Bridge St
Leominster
Herefordshire

HR6 8DU

01568 616266

www.carpentergoodwin.co.uk

Price: £100.11 (exc VAT) | £120.13 (inc VAT)



